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INSTRUCCIONES:  

 Escoja la opción más adecuada. 
 Usted cuenta con 5 minutos para resolver este quiz 

 
1. A regression model in which 1100 β⋅  represents the expected percentage change in Y in 

response to a 1 unit increase in 1X : 
a. 0 1 1Y Xβ β ε= + + . 

b. ( ) 0 1 1ln Y Xβ β ε= + + . 

c. ( )0 1 1Y Ln Xβ β ε= + + . 

d. ( ) ( )0 1 1Ln Y Ln Xβ β ε= + + . 

 
Answer (b) 
 

2. An estimator Yμ̂ of the population value Yμ is consistent if: 
a. Y Yμ̂ μ= . 
b. Yμ̂  is normally distributed in large samples. 

c. ( )Y YˆE μ μ= . 
d. None of the above. 

 
Answer (c) 
 

3. If an estimator is BLUE, therefore: 
a. The estimator for the DGP is unbiased, more efficient than any other linear 

estimator and consistent. 
b. Its expected value is equal to the real value of the parameter that it estimates and is 

more efficient than any other linear estimator and consistent. 
c. The estimator for the DGP is unbiased, linear, and more efficient than any other 

linear estimator. 
d. All of the above. 

Answer (d) 
 

4. One of the assumptions of the Gauss Markov theorem is that the perturbations are not 
correlated with other perturbations, this means that: 

a. Each perturbation has the same variance. 
b. Between all the perturbations exists the same serial correlation. 
c. The perturbations do affect other perturbations. 
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d. None of the above. 
 
Answer (b)  
 

5. A log-log model specification is preferable because: 
a. They always provide a better fit to the data. 
b. They are easier to estimate. 
c. Slopes can be interpreted as (constant) elasticities. 
d. A logarithm of a negative number doer not exist. 

 
Answer (c). 
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